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KEY FOR CLASS :  3

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

02 Option (A) is the correct answer. ‘Board’ of members.
03 Option (C) is the correct answer. The correct spelling is ‘Absence’.
05 Option (C) is the correct answer. It is pronounced as ‘Bare’, ‘Dare’ or ‘Fare’.
06 Option (D) is the correct answer. Its past tense is not formed by adding ‘ed’ at its end.
08 Option (A) is the correct answer. Mark that spelling. It means ‘antenna’.
10 Option (A) is the correct answer. Its homophone is ‘be’. ‘Fly’ is a homonym, not a homophone.
15 Option (C) is the correct answer. The three syllables are : ‘Im-ag-ine’.
16 Option (B) is the correct answer. The verb ‘has’ in the sentence is the main verb and not an auxiliary one.

So it needs an auxiliary verb (do) for its tag. After “Doesn’t he”, ‘have’ is understood though not expressed.
“hasn’t he” will require some main verb like ‘got’ in the sentence.

18 Option (C) is the correct answer. Use of ‘a’ or ‘an’ before a word is decided on the sound that word’s first
syllable produces. The sound produced by the first syllable of the word ‘university’ is a consonant sound
as in ‘you’ and hence article ‘a’. The sound produced by the first syllable of ‘SMS’ is a vowel sound as in
‘ace’ and hence article ‘an’.

20 Option (C) is the correct answer. The next, contextually connecting sentence uses simple present, ‘Move
back’, so we need to use ‘is’, simple present for that action.

21 Option (D) is the correct answer. ‘Would’ is used with ‘like’, to ask somebody politely to do something.
23 Option (D) is the correct answer; ‘flock’ is collective noun for sheep and ‘cloud’ for smoke.
24 Option (C) is the correct answer. ‘Sheep’ is the only one that can be a plural.
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